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Lee, Sang-Oak. 2001. On the functional load of phonetic and phonological
constraints in three-dimensional Korean linguistics. Studies in Phonetics,
Phonology and Morphology 7.1. 125-152. This paper investigates the frequency of
phonetic/phonological constraints in well-transcribed Korean data and established
a rank of functional load among those constraints. The results obtained in the
pursuit turn out in the following way: the phonetic rules/constraints are ranked in
the higher level of frequency and, in particular, the sum of two highest ranking
items is nearly 51%/53%. The constraint ‘Syllable Adjustment’ (14.6%) is much
more frequent than the rule of "Vowel Lengthening’. Among the four different
types of palatalization, n-, /-, and s-palatalization ranked high. Many other points
can be observed from the result. This study is able to support the economically
optimal design of speech/synthesis system by putting the highly ranked rules in the
mainstream of processing while leaving minor rules in the negligible periphery.
Again we may design the optimal model of introducing rules/constraints in our
language teaching or acquisition.(Seoul National University)
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